


Cylindrical turning system Index of tool system for cylindrical turning

JSDN3CR CH-SVUPL MCFNR DCFNR ECFNR SCFCR MDFNR
ABO7 ABO7
Turning tool system of outer circle - o l\h
-
[ I -3 ° [
| WN WN WN | TC VP | .
50° 016~032 020~025 91° 012~016 010~012 010~012 010~012 | 91° 016~040 016~032 020~032 012~032 016~032
1 1 | I
DVVNN EVVNN SVVBN SVVCN : ?I’ : :
| f’; — | |
| ] i i
I ™ ™ TC | I DC ™ ™ ™ TC
| 60° 116~0125 20~0125 012~032 | [120~032 [020~032 012~032 012~032 | 12~0120 116~032 116~0132 120~(132 110~0125
| Main Deflection Angle 60 60° 60° 60° | |
| 1 |
_____________ T e | DS-SCLL
| | | ABO3
! | . = /< |
| External / 1 1 External / 5 10 “9°
| 1 End Face Turning ccH DC.. DC. N VB..
| | 214~025 ©14~025 219~025 219~025 214~025
010~0020 I enrece | DS DS DS DS DS

55° 62.5°

DCKNR ECKNR SCKCR

WTENN ETENN I

End Face Turning J\75
75

End Face Turning
Insert center alignment
- —
N

I

CN.. CN.. CN.. cC

° 116~032 116~032 120~032 112~0025

Main Deflection An;

MCMNN-80 DCMNN-80 ECMNN-80 SCMCN-80

116~1140 120~(132 120~(132 112~(120
External / L
End Face Turning -
InsertCenter (P ¢ eSS & , o —------——-—"—=-=- oo -----s-s-smssssse 7 \A
Alignment External / End Face Turning M
=
I ‘ End Face Turning VR
I 215~025
90° 16~ 40 16~ 32 20~ 32 12~ 25 12~ 25 Turning of End Face
45° Center Grooving CRp S TP G P GG |
[ N
External Turning | { I
r—-—=-—-=- ‘_ CcSsV. TF33.
1 90° 7~012 [0J10~120
Main Deflection Angle 90
1
I MCGNR DCGNR ECGNR SCGCR MTGNR DTGNR ETGNR STGCR JSTA2CR ] MTJNR
SN SN ; =N ; (?N . ,CN o BOS BO5 B19 B12 & B12 % B12 ¢ B24 AB11 B14
016~040 016~032 20~0132 16~032 20~0132 | 'S &
90" 45° 90"  45° 90" 45° 45° 45° | Q q ‘ 0 { 4 ‘ > ' N
MCMNN-100 DCMNN-100 ECMNN-100 ~ SCMCN-100 I Small parts . |
| Back turning —
CN.. CN CN CoN . TN.. TN.. TC.. TC. TN..
| [16~0132 [16~0132 [120~(132 8~0132 16~0132 16~0132 20~132 8~132 08~(116 93° 116~0140
1 Main Deflection Angle 93
| WTJNR DTJNR ETJNR MDJNR DDJNR EDJNR SDACR JSDJ2CR SDJCR SDJCR-F SVJBR SVJCR
& BRTIE ON ERATE ON EATE co | B14 B14 B B4 BO7 BO7 BO7 s AB11 | B21 AB11 B25 B26
100° [16~0132 | JIFRF (116~0132 | IERF 020~0132 | TIHRF 010~0125 | g & A V= 4 ¢ . 4
1007 CenterGroovine | 400° 40° 100 R40°Ef | 100" R40°E%H | 100°H8 R40°EIfH | s
ST T T T T T T T T T T T T T T T T T T T T T T T T T s s e e e e e rTr-—-—T—T—T=====—77 )
| | ] ™ ™ ™ DN DN DN DC DC DC DC VB ve
| 1 SRGP(C)R | 16~0132 [120~0132 [16~0132 [16~0132 16~0132 20~132 18~125 18~C116 110~0140 112~0116 112~0132 112~0132
|
: | : MVJNR DVJNR EVJINR JSVJ2B/CR SVLBR-F ! SCACR SCLCR JSCL2CR SCLNR MCLNR DCLNR
| Lo | B15 B15 B15 AB12 AB12 B19 é B19 AB11 AB11 BO3 B03
7 ) -
| | J . N & o \ %4 &)
| RC/RP 95° y
| 016~0125 16~0125 12~(125 I
Profiling Turning Profiling Turning Profiling Turning VN VN VN VB VB - CE S CE CN.. CN CN
| 16~0132 [016~032 [120~0132 8~C116 12~0116 95° 18~116 18~(132 8~116 110~(116 116~(140 116~(132
Main Deflection Angle 95
CH-GTTL DS-TBPL DS-KTKFL | | MTQNR
W BO3 B17 B17 B17 B17 AB11 AB12 \ B13 e B13
’ & 7} — 4
P e It - 7 5 A7
1 o N 105 15° y ¢ 1
100 | |
y —
C csv TB32 GTM TBP. TKF. e CN WN WN WN WN ™ — ™ ™ ™ ™
7~ 12 8~ 12 10~ 12 19~025 @19~025 10~ 20 112~(125 116~(125 16~0132 [116~0140 20~0132 [016~032 016~0132 016~0132 16~0132 10~0116 100° 10~0120 105° 116~(132 120~(132 120~(132
Backstage Turning Main Defloction Angls 100 Main Deflection Anglo 10
M SABSR SABSSL TBPR TBPSL KTKFR KTKFSL ] K
A AB13 AB13 AB15 AB15 AB25 AB25 ii N B08 B08 BO08, B22 ii B15 B15 g B15 B25 B26 AB12
Rui il & “ y ,
= 7 % ? é 9 ﬂ I 27.5° 7 > A ) 7 n
M @ L@J 107.5° 7.5 \ & 117.5° < V = (s 5
Py v Y 1 .
= ABS ABS. TBP TBP. TKF TKF SN sC SN.. SN DN DN DN DC VN VN VN VB ve ve
8~0120 010~0125 18~0116 10~0120 18~(120 10~0120 120~(132 112~0125 16~140 [020~032 107.5° 016~032 016~032 020~0132 10~025 117.5° 16~0132 16~0132 120~0132 112~032 112~032 110~0016
Backstage Turning Main Dflastion Angle 107.5 ain Deflection Angle 117.5




Cylindrical turning system

=

P Type Cylindrical Turning Tool

MCFNR

Cylindrical Turning

End Face Turning

=

(Inserts): A0O1-A02

(Toolholder Parts): P01-P04

MCFNR/L 1616H12 | 16 | 16 |100| 32 | 16 | 20 e e 211100
2020K12 | 20 | 20 |125| 32 | 20 | 25 PL25 e | e 211102
2525M12 | 25 | 25 | 150| 32 | 25 | 32 | CN..1204.. |CTM617 /MC1204 PL30 MS625 |HL1814 | o | @ | 211104
3232P12 | 32 | 32 |170| 32 | 32 | 40 019211106
2525M16 | 25 | 25 [150| 32 | 25 | 32 PL30 010211103
3232P16 | 32 | 32 |[170| 37 | 32 | 40 | CN..1606.. |CTM822|MC1604 PL40 MS830 | HL2217 | o | © | 211107
2525M19 | 25 | 25 |150| 32 | 25 | 32 o]0 |211105
3232P19 | 32 | 32 [170| 37 | 32 | 40 CTM o]0 (211108
4040R19 | 40 | 40 | 200| 38 | 40 | 50 CN..1906. . 1022 MC1904| PL40 | MS830 | HL2217 | J | 4 211109

DCFNR/L 1616H12
2020K12
2525M12

3232P12

20
25
32

20
25
32

125
150
170

32
32
32

20
25
32

25
32
40

CN..1204..

M6X9P

MC1204

PL30

M6X21

HLD-1

O e e O

O O O O

211120
211122
211124
211126

ECFNR/L 2020K12 | 20 | 20 |125| 32 | 20 | 25 PL30 0|0 1211130
2525M12 | 25 | 25 [150| 32 | 25 | 32 | CN..1204.. |CT618-Z/MC1204 PL40 M8X25 | HLZ-C | o | o |211132
3232P12 | 32 | 32 | 170 32 | 32 | 40 0101211134
MCLNR

Cylindrical Turning

End Face Turning

=

(Inserts): A01-A02

(Toolholder Parts): P01-P04

MCLNR/L 1616H12 e | e 211200
2020K12 | 20 | 20 |125| 32 | 20 | 25 PL25 e | e 211202
2525M12 | 25 | 25 |150| 32 | 25 | 32 CN..1204.. |CTM617 MC1204 PL30 MS625 |HL1814 | o | o 211204
3232P12 | 32 | 32 |170| 32 | 32 | 40 ® | ® 211206
2525M16 | 25 | 25 | 150 | 37 | 25 | 32 PL30 e o 211208
3232P16 | 32 | 32 |[170| 37 | 32 | 40 | CN..1606.. [CTM822/MC1604 PL40 MS830 | HL2217 | ® | ® | 211210
4040R16 | 40 | 40 | 200 | 38 | 40 | 50 ®|® 211213
2525M19 25 | 25 | 150 32 | 25 | 32 e e 211209
3232P19 | 32 | 32 |170| 37 | 32 | 40 | CN..1906.. |CTM1022|MC1904| PL40 | MS830 |HL2217| e | ® 211212
4040R19 [ 40 | 40 [200| 38 | 40 | 50 ®|® 211214

DCLNR/L 1616H12
2020K12
2525M12

3232P12

20
25
32

20
25
92

125
150
170

32
32
32

20
25
32

25
32
40

CN..1204..

M6X9P

MC1204

PL30

M6X21

HLD-1

OC e ®O

O O 0 O

211220
211222
211224
211226

ECLNR/L

2020K12
2525M12
3232P12

25
32

25
32

150
170

32
32

25
32

32
40

CN..1204..

CT618-Z

MC1204

PL30
PL40

M8X25

211230
211232
211234

MCBNR

Cylindrical Turning

==

(Inserts): A0O1-A02

ECBNR

(Toolholder Parts): P01-P04

MCBNR/L 2020K12 | 20 | 20 | 125] 32 | 20 | 17 blLos e | e 211400
2525M12 | 25 | 25 | 150 | 32 | 25 | 22 | CN..1204.. |CTMB17|MC1204| p 50 | MS625 |HL1814| ® | ® 211402
3232P12 | 32 | 32 [170| 32 | 32 | 27 o | e 211404
2525M16 | 25 | 25 | 150 37 | 25 | 22 PL30 o e[211406
3232P16 | 32 | 32 [170| 37 | 32 | 27 | CN..1606.. |CTM822|MC1604| 550 | MS830 | HL2217| | & | 211408
4040R16 | 40 | 40 | 200| 38 | 40 | 35 o | | 211411
2525M19 | 25 | 25 | 150 32 | 25 | 22 o | e [211407
3232P19 | 32 | 32 |170| 37 | 32 | 27 | CN..1906.. |CTM1022|MC1904| PL40 | MS830 |HL2217| e | ® | 211410
4040R19 | 40 | 40 | 200 38 | 40 | 35 o| e |211413

DCBNR/L 2020K12
2525M12

3232P12

25
32

25
32

150
170

32
32

25
32

CN..1204..

M6X9P

MC1204

PL30

211422
211424

ECBNR/L 2020K12
2525M12

3232P12

25
32

25
32

150
170

32
32

25,
32

CN..1204..

CT618-Z

MC1204

PL30
PL40

M8X25

HLZ-CB

211430

01211432

211434

MCKNR

End Face Turning

=

(Inserts): A0O1-A02

(Toolholder Parts): P01-P04

MCKNRI/L 1616H12 | 16 | 16 |100| 32 | 16 | 20 o | e|211500
2020K12 | 20 | 20 |125] 32 | 20 | 25 PL25 o | e 211502
2525M12 | 25 | 25 |150| 32 | 25 | 32 | CN..1204.. |CTM617 | MC1204 PL30 MS625 |HL1814 "¢ [ e [ 211504
3232P12 | 32 | 32 |170] 32 | 32 | 40 o | e 211506
2525M16 | 25 | 25 |150| 37 | 25 | 32 PL30 ol e 211508
3232P16 | 32 | 32 |170| 37 | 32 | 40 | CN--1606.. |CTM822 MC1604| o 4, | MS830 | 5547| e | 0 |211510
3232P19 | 32 | 32 [170] 37 | 32 | 50 | CN..1906.. |CTM1022|MC1904] PL40 | MS830 oo |211512

DCKNRI/L

1616H12

2020K12
2525M12
3232P12

20
25
32

20
25
32

125
150
170

20
25
32

25
32
40

CN..1204..

M6X9P

MC1204

PL30

M6X21

HLD-1

O e @ O

O O 0O O

211520
211522
211524
211526

ECKNR/L 2020K12
2525M12

3232P12

20
25
32

20
25
32

125
150
170

20
25
32

25
32
40

CN..1204..

CT618-Z

MC1204

PL30
PL40

HLZ-CB

211530
211532
211534




Cylindrical turning system P Type Cylindrical Turning Tool

MCGNR MCMNN..80 DCMNN..80

Cylindrical Turning

End Face Turning

Cylindrical Turning/50° Chamfer

(Toolholder Parts): P01-P04 R-Type = (Inserts): A01-A02 (Toolholder Parts): P01-P04 R-Type

==

(Inserts): A0O1-A02

MCGNR/L 1616H12 | 16 | 16 | 100| 32 | 16 | 20 e | e 211700 MCMNN 1616H12-80 | 16 | 16 | 100| 35 | 16 | 8 e |211800
Bl L T e R PL25 | ® 211702 2020K12-80 | 20 | 20 | 125| 35 | 20 | 10 e 211802

2525M12| 25 | 25 | 150| 32 | 25 | 32 | CN..1204..\CTM617IMC1204| p 54 | MS625 \HL1814| ¢ | o | 211704 2525M12-80 | 25 | 25 | 150| 38 | 25 |12.5/ CN..1204..|CTM617 MC1204 ,'ztgg MS625 | HL1814| o | 211804

oiplil) e s e | e 211706 3232P12-80 | 32 | 32 | 170| 38 | 32 | 16 o 211806

2525M16| 25 | 25 | 150 32 | 25 | 32 PL30 | ® 211703 2525M16-80 | 25 | 25 | 150| 43 | 25 |12.5 PL30 e (211808

CN..1606.. |CTM822|MC1604 MS830 | HL2217 -

3232P16] 32 | 32 | 170| 32 | 32 | 40 PL40 o | e|211707 3232P16-80 | 32 | 32 |170| 43 | 32 | 16 | CN-1606.. |CTMB22|MC1604| p| 49 | MS830 |4y 5247] o |211810
3232P19-80 | 32 | 32 | 170| 45 | 32 | 16 | CN..1906.. |CTM1022]MC1904] PL40 | MS830 o [211812

DCGNR/L 1616H12| 16 | 16 [100| 32 | 16 | 20 o]0 (211720
2020K12 | 20 | 20 | 125 32 | 20 | 25 ®| 211722 DCMNN 1616H12-80 | 16 | 16 | 100| 35 | 16 | 8 o]0 [211820
2525M12 | 25 | 25 | 150| 32 | 25 | 32 | CN..1204.. | M6X9P |MC1204| PL30 | M6X21 | HLD-1 | ¢ | 0 | 211724 2020K12-80 | 20 | 20 | 1251 35 | 20 | 10 o | o|211822
3232P12 | 32 | 32 |170] 32 | 32 | 40 0901211726 2525M12-80 | 25 | 25 | 150| 38 | 25 |12.5| CN..1204.. | M6X9P [MC1204| PL30 | M6X21 | HLD-1 | ¢ | 0 | 211824
3232P12-80 | 32 | 32 |[170]| 38 | 32 | 16 0]10]211826

ECGNR/L 2020K12 (| 20 | 20 |125| 32 | 20 | 25 PL30 o1 0|211730
2525M12 | 25 | 25 | 150 32 | 25 | 32 | CN..1204.. |CT618-2\MC1204| o | M8X25 | HLZ-C | 0| 0|211732 ECMNN 2020K12-80 PL30 211830
3232P12 | 32 | 32 |170] 32 | 32 | 40 0101211734 2525M12-80 | 25 | 25 |150| 38 | 25 [12.5| CN..1204.. |CT618-ZIMC1204| 0 |M8X25 | HLZ-C |0 |0 |211832
3232P12-80 32 | 32 |170| 38 | 32 | 16 ©]01211834
MCSNR E MCMNN..100 DCMNN..100 ECMNN..100 50"
1 | ISt Bl
a5 =
Cylindrical Turning 8 L L ! QL L\/5°" L1 1
6°, N
Cylindrical Turning/40° Chamfer
= (Inserts): A0O1-A02 (Toolholder Parts): P01-P04 R-Type = (Inserts): AO1-A02 (Toolholder Parts): P01-P04 R-Type

MCSNR/L 1616H12 | 16 | 16 | 100| 32 | 16 | 20 | e [211600
MCMNN 1616H12-100 | 16 | 16 | 100| 35 | 16 | 8 e |212100

Soaemis| 52 | 22 |120] 38 | 52 | 53 | cN.1204.. |cTMB17|MC1204| BV25 | Ms625 [HL1814| & | o | 211000 2020Ha2=400) bl ol ot Rl PL25 sEmi2n2402

2525M12 | 25 | 25 | 150| 38 | 25 | 32 .1204.. PL30 o| o |211604 2525M12-100| 25 | 25 | 150| 38 | 25 |12.5| CN..1204.. |CTM617|MC1204| 550 | MS625 |HL1814| o |212104

3232P12 | 32 | 32 | 170] 38 | 32 | 40 ®| ®|211606 3232P12-100 | 32 | 32 | 170| 38 | 32 | 16 o [212106
2525M16-100| 25 | 25 | 150| 43 | 25 |12.5 PL30 e (212108

3232P16-100 | 32 | 32 | 170 43 | 32 | 16 | CN--1606.. |CTM822IMC1604| p 40 | MS830 |y 5547| e |212110

3232P19-100 | 32 | 32 | 1701 45 | 32 | 16 | CN..1906.. |[CTM1022| MC1904] PL40 | MS830 o [212112

DCSNR/L 2020K12 | 20 | 20 |125| 35 | 20 | 25 ® | 01211620
2525M12 | 25 | 25 [ 150| 38 | 25 | 32 | CN..1204.. | M6X9P |[MC1204| PL30 | M6X21 | HLD-1 | e | 0 |211622
3232P12 | 32 | 32 |170| 38 | 32 | 40 0101211624

DCMNN 1616H12-100| 16 | 16 |100| 35 | 16 | 8 0| 01212120
2020K12-100| 20 | 20 |125| 35 | 20 | 10 ® | 0212122
2525M12-100| 25 | 25 | 150| 38 | 25 |12.5| CN..1204.. | M6X9P |MC1204| PL30 | M6X21 | HLD-1 | ¢ | 0 | 212124
3232P12-100| 32 | 32 |170]| 38 | 32 | 16 0] 0212126

ECMNN 2020K12-100| 20 | 20 | 125| 35 | 20 | 10 PL30 ‘ 0101212130
2525M12-100( 25 | 25 |150| 38 | 25 |12.5| CN..1204.. |CT618-Z]MC1204 PL40 M8X25 |HLZ-CB| 0| 0 |212132
3232P12-100| 32 | 32 |170| 38 | 32 | 16 0101212134




Cylindrical turning system

P Type Cylindrical Turning Tool

DDJNR

Cylindrical Turning %

End Face Turning

@ (Inserts): A03-A04 (Toolholder Parts): P01-P04 R-Type
Order

Number

MDJNR/L1616H11 | 16 | 16 | 100[31.5| 16 | 20 5PL20 e e 212300]
2020K11 | 20 | 20 | 125| 33 | 20 | 25 | DN..1104.. | CTM617MD1103| 050 | MS625 |HL1814 | » | @ |212302
2525M11 | 25 | 25 | 150 | 33 | 25 | 32 o | e 212304
1616H15 | 32 | 32 [170(31.5] 32 | 20 o [® (212306
2020K15 | 25 | 25 | 150 | 39 | 25 | 25 | DN..1504.. MD1506| PPL25 o | ¢ (212308
2525M15 | 32 | 32 [170| 40 | 32 | 32 | DN..1506.. | CTM819\ \ip1504| ppL30 | MS625 | HL2114 14 | o (212310
3232P15 | 32 | 32 |170| 42 | 32 | 40 o | e 212312

Order

Number

DDJNR/L 1616H11 | 16 | 16 | 100(31.5] 16 | 20 o 01212320
2020K11 | 20 | 20 |125| 33 | 20 | 25 | DN..1104.. | M5X9P |MD1103| PL30 | M6X21 | HLD-3 | o | o | 212322

2525M11 | 25 | 25 | 150 33 | 25 | 32 o| o 212324

2020K15 | 20 | 20 | 125] 39 | 20 | 25 e [0 [212326

2525M15 | 25 | 25 | 150 | 40 | 25 | 32 Bm"]ggg" MEX9P mg]ggg PL30 | M6X21 | HLD-2 | ® | o |212328

3232P15 | 32 | 32 |170] 42 | 32 | 40 1506 o | o |212330

Order

Number

EDJNR/IL 2020K15 | 20 | 20 | 125] 39 | 20 | 25 PL30 oo 212332
2525M15 | 25 | 25 | 150| 40 | 25 | 32 | DN..1504.. [CT618-Z|MD1504| prog | M8X25 | HLZ-D |o | o |212334

3232P15 | 32 | 32 |170] 42 | 32 | 40 o|o|212336

MDPNN

Cylindrical Turning

= (Inserts): A0O3-A04 (Toolholder Parts): P01-P04 R-Type
Order

Number

MDPNN 1616H11 16 | 16 |100| 36 | 16 | 8 PL20 e 212200
2020K11 20 | 20 (125 36 | 20 | 10 | DN..1104.. |CTM617|MD1103 PL30 HL1814| ® |212202
2525M11 25 | 25 |150| 36 | 25 |12.5 ° 1212204
1616H15 32 [ 32 |100] 43 | 32| 8 MS625 e (212206
2020K15 25 | 25 |125| 43 | 25 | 10 | DN..1504.. MD1506| PL25 HL2114 o 212208
2525M15 | 32 | 32 |150| 43 | 32 [12.5| DN..1506.. |CTM619\ip1504| PL30 e |212210
3232P15 32 132 |170] 43 | 32 | 16 ° 1212212

Order

Number

DDPNN 1616H11 | 16 | 16 |100| 36 | 16 | 8 o] o0[212220
2020K11 | 20 | 20 |125| 36 | 20 | 10 | DN..1104.. | M5X9P |[MD1103| PL30 | M6X21 | HLD-3 | o | o |212222

2525M11 | 25 | 25 | 150| 36 | 25 |12. 5 0] 0]212224

2020K15 | 20 | 20 [125] 43 | 20 | 10 e[ 0[212226

2525M15 | 25 | 25 | 150 | 43 | 25 [12.5 DN 1200 | Mexop | MDI999) PL30 | M6x21 | HLD-2 | e | o (212228

3232P15 | 32 | 32 |170| 43 | 32 | 16 B B o | 0212230

Order

Number

EDPNN 2020K15 | 20 | 20 [125]| 39 | 20 | 10 PL30 212232
2525M15 | 25 | 25 | 150 | 40 | 25 |12. 5| DN..1504.. |CT618-Z|MD1504| o | M8X25 | HLZ-D | 0|0 |212234

3232P15 | 32 | 32 [170] 42 | 32 | 16 0] 01212236

MDQNR EDQNR

Cylindrical Turning ‘

W L pm—
|

End Face Turning

= (Inserts): A03-A04 (Toolholder Parts): P0O1-P04 R-Type
Order

Number

MDQNR/L 1616H11 | 16 | 16 | 100|31.5| 16 | 20 o0 e e|212500
2020K11 | 20 | 20 | 125| 33 | 20 | 25 | DN..1104.. |CTM617|MD1103] [ 2/ HL1814 | ® e |212502

2525M11 | 25 | 25 |150| 33 | 25 | 32 o |212504

1616H15 | 16 | 16 | 100(31.5| 16 | 20 MS625 e (212506

2020K15 | 20 | 20 |125| 39 | 20 | 25 | DN..1504.. MD1506| PL25 e |212508

2525M15 | 25 | 25 |150| 40 | 25 | 32 | DN..1506.. |T™6"1°\ D 1504| PL3O HL2114 | o o 1242510

3232P15 | 32 | 32 |170| 42 | 32 | 40 o o|212512

Order

Number

DDQNR/L 1616H11| 16 | 16 |100]| 32 | 16 | 20 001212520
2020K11 | 20 | 20 |125| 32 | 20 | 25 | DN..1104.. | M5X9P |MD1103| PL30 | M6X21 | HLD-3 | o | o | 212522

2525M11 | 25 | 25 |150| 32 | 25 | 32 oo |212524

2020K15 | 20 | 20 [125] 37 | 20 | 25 e [0[212526

2525M15 | 25 | 25 | 150 | 37 | 25 | 32 BH"]ggg" MBX9P mg]ggg PL30 | M6X21 | HLD-2 | ® | 0 | 212528

3232P15 | 32 | 32 |170] 37 | 32 | 40 - 1906 o |0 |212530

Order

Number

EDQNR/L 2020K15| 20 | 20 | 125] 39 | 20 | 25 L30 | oo 212532
2525M15 | 25 | 25 |150| 40 | 25 | 32 | DN..1504.. |CT618-Z|MD1504| o0 | M8X25 | HLZ-D |o | o 212534

3232P15 | 32 | 32 |170] 42 | 32 | 40 o| o 212536

MDFNR

e ¥
- Eme

Cylindrical Turning (O

End Face Turning

= (Inserts): A03-A04 (Toolholder Parts): P01-P04 R-Type
Order

Number

MDFNR/L 1616H11 | 16 | 16 | 100|31.5| 16 | 20 oL20 e o |212550]
2020K11 | 20 | 20 |125| 33 | 20 | 25 | DN..1104.. [CTM617|MD1103| 20 HL1814| e 212552

2525M11 | 25 | 25 | 150| 33 | 25 | 32 o o |212554

1616H15 | 16 | 16 [170(31.5] 16 | 20 MS625 e |212556

202015 | 20 | 20 | 150| 39 | 20 | 25 | DN..1504.. | IMD1506 PL25 Hloiia|® ©|212558

2525M15 | 25 | 25 | 170| 40 | 25 | 32 | DN..1506.. MD1504| PL30 o o |212560

3232P15 | 32 | 32 | 170 42 | 32 | 40 o o 212562

Order

Number

DDFNR/L 1616H11 | 16 | 16 | 100| 32 | 16 | 20 o0 1212570
2020K11 | 20 | 20 |125| 32 | 20 | 25 | DN..1104.. | M5X9P |MD1103| PL30 | M6X21 | HLD-3 |o| o | 212572

2525M11 | 25 | 25 | 150 32 | 25 | 32 o|o|212574

2020K15 | 20 | 20 [125] 37 | 20 | 25 e 0212576

2525M15 | 25 | 25 | 150| 37 | 25 | 32 BE"]ggg" M6X9P mglggg PL30 | M6X21 | HLD-2 | ® | o |212578

3232P15 | 32 | 32 |170| 37 | 32 | 40 | PN--1506.. o | 0212580




Cylindrical turning system

=

P Type Cylindrical Turning Tool

MSBNR DSBNR

Cylindrical Turning

==

(Inserts): AO7-A08 (Toolholder Parts): P01-P04

MSBNR/L 1616H12 | 16 | 16 |100| 32 | 16 | 13 e | e 212600
2525M12 | 25 | 25 |180| 32 | 25 | 22 | SN-1204. |CTMB17 Wst208) D10 | mse2s | HLtsta| {1 31512008
3232P12 | 32 | 32 |170| 32 | 32 | 27 e | 212606
§g§gnpn1155 :232 gg 1?8 g; ;g §$ SN..1506.. |CTM822|MS1504 Etig MS830 | HL2217 : : 21;28?
3282P19 | 32 | 52 1701671 32 | 27 | o icnelcroonlustona) pLan | mseao |nizziy | § | 212008

DSBNR/L 2020K12 001212620

2525M12 | 25 | 25 | 150(32. 5| 25 | 22 | SN..1204.. | M6X9P |MS1204| PL30 | M6X21 | HLD-1 | o | o | 212622
3232P12 | 32 | 32 |17032.5 32 | 27 o o|212624
VSRR FORNR | -
75°
N }.AJ . |

Cylindrical Turning

=

(Inserts): A0O7-A08 (Toolholder Parts): P01-P04

MSRNR/L 1616H12 | 16 | 16 [100| 35 | 16 | 20 e e 213100
2020K12 | 20 | 20 |125| 35 | 20 | 25 PL25 e | e 213102
2525M12 | 25 | 25 | 150| 35 | 25 | 32 SN..1204.. |CTM617|MS1204 PL30 MS625 [HL1814 | ¢ | o 213104
3232P12 | 32 | 32 |170| 35 | 32 | 40 ® e 213106
2525M15 | 25 | 25 | 150 | 40 | 25 | 32 PL30 0| 01213108
3232P15 | 32 | 32 | 170| 40 | 32 | 40 | SN-1506.. |CTM822|MS1504) p) 49 | MS830 |HL2217 5 | 5243110
oo
232t | 52 | 32| 1701 40| 52 | 40 | (ool T e T oo i3t

1251(32. 5 20 | 25 oo

DSRNR/L 2020K12 | 20 | 20 213120
2525M12 | 25 | 25 [ 150 (32. 5/ 25 | 32 | SN..1204.. | M6X9P |MS1204| PL30 | M6X21 | HLD-1 |o | ©|213122
3232P12 | 32 | 32 |17032. 5] 32 | 40 0101213124

ESRNR/L 2020K16 PL25 213130
2525M16 | 25 | 25 |150| 37 | 25 | 32 | SN..1204.. |CT618-Z| MS1204 PL40 M8X25 | HLZ-S | o |0 |213132
3232P16 | 32 | 32 |170| 37 | 32 | 40 0]0|213136

MSKNR ESKNR

» | gm—
- A

R-Type

End Face Turning

==

(Inserts): AO7-A08 (Toolholder Parts): P01-P04

MSKNR/L 1616H12 | e 212800
ggggmzz ;g ;g 122 gg ;g gg SN..1204.. |CTM617|MS1204 ﬁtgg MS625 | HL1814 | o | o ggggi
3232P12 | 32 | 32 [170] 35 | 32 | 40 o | o|212806
sasuts |3 5250106 282 o ne omwsaluersos| EL3 | e [z |35 228
23%;:3 2(2) ig ;gg :8 2(2) gg SN..1906.. |CTM1022| MS1904| PL40 | MS830 [HL2217 | o | o 2];2]2

DSKNR/L 2020K12
2525M12
3232P12

25
32

25
32

150
170

28
28

25
32

32
40

212820
212822
212826

ESKNR/L 2020K16
2525M16
3232P16

SN..1204..

CT618-Z

MS1204

212830
212832
212836

MSDNN

45° Chamfer + Cylindrical Turning

=

(Inserts): A0O7-A08

DSDNN

(Toolholder Parts): P01-P04

MSDNN 1616H12 | 16 | 16 | 100| 35 | 16 8 ° 212700
a0 |20 | 20| 125| 35| 20|19 o 1z00|crus|usraon E2 | s s |21
3232P12 | 32 | 32 |170| 35 | 32 | 16 ° 212706
e oo |22 7 on rsos orwesausroon| B oo [mzav| 5 |27
iﬁiﬁ:}g ig 23 ;gg :8 23 ;g SN..1906.. |CTM1022|MS1904| PL40 | MS830 |HL2217 Z 312;12

DSDNN 1616H12
2020K12
2525M12

3232P12

16
20
25
32

16
20
25
32

100
125
150
170

35
59
37
37

16
20
25
32

M6X9P

MS1204

PL30

M6X21

HLD-1

O 0 O O

212720
212722
212724
212726

ESDNN  2020K16
2525M16

3232P16

25
32

25
32

150
170

37
37

25
32

12.5
16

SN..1204..

CT618-Z

MS1204

PL25
PL40

212730
212732
212736

MSSNR

45° Chamfer + Cylindrical Turning

==

(Inserts): AO7-A08

(Toolholder Parts): P01-P04

ESSNR

MSSNR/L 1616H12 | 16 | 16 | 100| 35 | 16 | 20 o| e 213200
12 | 20| 201125/ 351 20 | 25| SN..1204.. |CTM617|MS1204| S50 | MS625 |HL1814 3 | §|313502
3232P12 | 32 | 32 |170| 35 | 32 | 40 o | e|213206
2 s | 251 251150 90 | 25 | 22 | oN..1506.. |CTMB22| MS1504| Lol | Mssso |HL2217| g | o| 313298
e | 35 22 | 2701 40| 35| 25 | SN..1906.. |cTM1022| MS1904| PL4O | Ms830 | HL2217 | o | o| 3 o513

DSSNR/L 1616H12
2020K12
2525M12

3232P12

16
20
25
32

16
20
25
32

100
125
150
170

35
35
37
37

16
20
25
32

20
25
32
40

M6X9P

MS1204

PL30

M6X21

HLD-1

O O O O

213220
213222
213224
213226

ESSNR/L 2020K16
2525M16
3232P16

20
25
32

20
25
32

125
150
170

35
37
37

20
25
32

Q20D

SN..1204..

CT618-Z

MS1204

PL25
PL40

213230
213232
213236




Cylindrical turning system

P Type Cylindrical Turning Tool

WTBNR

Cylindrical Turning *=

= (Inserts): A09-A10 (Toolholder Parts): P01-P04 R-Type
Order
Number
MTBNR/L 1616H16 16 | 16 | 100| 28 | 16 |15.5 PL20 e | e (214100
2020K16 | 20 | 20 |125| 28 | 20 |15.5| TN..1604.. |[CTM513|MT1603 PL30 MS625 |HL1814 | @ | ® | 214102
2525M16 | 25 | 25 | 150 | 30 | 25 |20.5 o | o 214104
Order
Number
WTBNR/L 1616H16 | 16 | 16 | 100 |31.5| 16 |15.5 e | e 214200
2020K16 | 20 | 20 |125| 33 | 20 |15.5 PL25 e | e 214202
2525M16 | 25 | 25 | 150 | 33 | 25 |20.5| | \:-0604. JCTMETSTIMTI603 ] ) pq | MOXx23 | WT-16 | o | ¢ 1514204
3232P16 | 32 | 32 |170| 33 | 32 |27.5 e | o 214206
ETENN 2
y 4
St \

Cylindrical Turning

= (Inserts): A09-A10 (Toolholder Parts): P01-P04 R-Type
Order

Number

MTENN 1616H16 | 16 | 16 | 100] 30 | 16 | 8 e 1214300
2020K16 | 20 | 20 | 125| 28 | 20 | 10 PL20 o 214302
2525M16 | 25 | 25 | 150 | 30 | 25 |12.5| |N--1604. |CTMS13IMT1603| ) 5, | MS625 |HL1814 1 o 1514304

3232P16 | 32 | 32 |170] 30 | 32 | 16 o 1214306
2525M22 | 25 | 25 | 150 | 36 | 25 |12.5 PL25 o 1214308

3232P22 | 32 | 32 |170| 36 | 32 | 16 | '\--2204.. |CTME17I MT2204| ),y | MSB30 \HLIO7| 1544340

Order

Number

2020K16 bL25 214400]
2525M16 | 25 | 25 | 150| 36 | 25 [12.5| TN..1604.. |cTusisT|MT1603| O 20 |M5x23 | WT-16 | o 214402
3232P16 | 32 | 32 |170| 36 | 32 | 16 o (214404

Order

Number

2020K16 oLt 214420
2525M16 | 25 | 25 [ 150 36 | 25 [12.5| TN.1604.. |CT515-2| MT1603| D-2% | M8x25 | HLZ-T | e |214422
3232P16 | 32 | 32 [170] 36 | 32 | 16 o |214426

MTFNR

Cylindrical Turning

End Face Turning

=

(Inserts): A09-A10

DTFNR

(Toolholder Parts): P01-P04

Order

Number

MTENR/L 1616H16 | 16 | 16 | 100] 30 | 16 | 20 e | e 213800

2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 o| o 213802

o2smie | o5 | o5 |1eo| o0 | o5 | 25 | TN.1604.. [CTM513|MT1603| CU50 | MS625 |HL1814 [ 3 | o |2715202

3232P16 | 32 | 32 [170| 30 | 32 | 40 o| o 213806

2525M22 | 25 | 25 |150| 36 | 25 | 32 PL25 o |0 [213808

3232P22 | 32 | 32 |170| 36 | 32 | 40 | TN:-2204. |CTMET7IMT2204) o )y | MSB30 | HLIO17 | 1 1543810

Order

Number

DTFNRI/L 1616H16 | 16 | 16 | 100| 29 | 16 | 20 o1 0213820

2020K16 | 20 | 20 |125| 29 | 20 | 25 o|o|213822

2020K16 | 20 ) 20 11251 29\ 20 | 25| 1\ 1604.. | M5X9P |MT1603| PL30 | MeX21 | HLD-3 | o | o |213822

3232P16 | 32 | 32 |170] 31 | 32 | 40 oo |213826

Order

Number

ETFNR/L 2020K16 | 20 | 20 | 125] 32 | 20 | 25 oo oo [213830

2525M16 | 25 | 25 | 150| 34 | 25 | 32 | TN..1604.. [CT515-Z| MT1603| P20 | M8X25 | HLZ-T |o | o [213832

3232P16 | 32 | 32 |170| 34 | 32 | 40 oo |213836
MTGNR DTGNR ETGNR

Cylindrical Turning

=

(Inserts): A09-A10

MTGNR/L 1616H16
2020K16
2525M16
3232P16
2525M22
3232P22

(Toolholder Parts): P01-P04

125
150
170
150
170

.| ¥

Order
Number

e | e |213900]

PL20 e | @ 213902

TN..1604.. |CTM513|MT1603| [ "2 | MS625 | HL1814| S 115 200"
o | |213906

PL25 0| o [213908

TN..2204.. |CTM617|MT2204| ") | MS830 | HL1917 | (| o 5am00

Order
Number

DTGNR/L 1616H16 0101213920
2020K16 | 20 | 20 |125| 29 | 20 | 25 | TN..1604.. | M5X9P |[MT1603| PL30 | M6X21 | HLD-3 | © | © |213922
2525M16 | 25 | 25 | 150 31 | 25 | 32 001213924
3232P22 | 32 | 32 [170] 32 | 32 | 40 | TN..2204.. | M6X9P |MT2204| PL30 | M6X21 | HLD-2 | o | © 213926

ETGNR/L 2020K16
2525M16
3232P16

TN..1604..

Order
Number

213930
213932
213936




Cylindrical turning system

P Type Cylindrical Turning Tool

Cylindrical Turning
End Face Turning

==

(Inserts): A09-A10

(Toolholder Parts): P01-P04

MTQNR/L 1616H16 16 | 16 | 100| 30 | 16 | 20 e | e (213700
2020K16 | 20 | 20 [125| 28 | 20 | 25 PL20 e | e 213702
2525M16 | 25 | 25 | 150| 30 | 25 | 32 TN..1604.. |CTM513|MT1603 PL30 MS625 | HL1814 el o 213704
3232P16 32 | 32 |170| 30 | 32 | 40 e | o 213706
2525M22 | 25 | 25 |150| 36 | 25 | 32 PL25 0| 0(213708
3232P22 32 | 32 |170] 36 | 32 | 40 TN..2204.. |[CTM617|MT2204 PL40 MS830 | HL1917 ol ol213710

WTQNR/L 2020K16 20 | 20 |125| 32 | 20 | 25 PL25 e | e 213600
2525M16 25 | 25 [160| 32 | 25 | 32 | TN..1604.. [CTM515-T MT1603 PL40 M5X23 | WT-16 | @ | @ 1213602
3232P16 32 | 32 |170] 32 | 32 | 40 e | o 213604

ETQNR/L 2020K16 | 20 | 20 |125| 32 | 20 | 25 o|o

213620
2525M16 | 25 | 25 [150| 34 | 25 | 32 | TN..1604.. |CT515-Z MT1603 E:ﬁg M8X25 | HLZ-T |o | 0 213622
3232P16 32 | 32 |[170] 34 | 32 | 40 0] 0213626

=

(Inserts): A09-A10

(Toolholder Parts): P01-P04

WTJNRg DTJN
&

Cylindrical Turning

End Face Turning

R

MTJNR/L 1616H16 | 16 | 16 | 100| 30 | 16 | 20 e | e 213400
2020K16 | 20 | 20 | 125| 28 | 20 | 25 PL20 e | e 213402
2525M16 | 25 | 25 |150| 30 | 25 | 32 TN..1604.. |CTM513|MT1603 PL30 MS625 |HL1814 | "1 213404
3232P16 | 32 | 32 |170| 30 | 32 | 40 e | o 213406
2525M22 | 25 | 25 | 150| 36 | 25 | 32 PL25 0| 0|213408
3232P22 | 32 | 32 |170| 36 | 32 | 40 | TN..2204.. |CTM617|MT2204 PL40 Ms830 |HL1917| 0| 0 [213410
4040R22 | 40 | 40 | 200| 40 | 40 | 50 0] 0213412

DTJNR/L 2020K16
2525M16
3232P16

25
32

25
32

150
170

30
32

25
32

32
40

TN..1604..

CTM515-T

PL25
PL40

M5X23

213320
213322
213326

WTJNR/L 1616H16
2020K16
2525M16
3232P16

20
25
32

20
25
32

125
150
170

32
34
34

20
25
32

25
32
40

TN..1604..

CTM515-T|

PL25
PL40

M5X23

WT-16

O O O O

O O O O

213300
213302
213304
213306

MTWNR

Cylindrical Turning

=

(Inserts): A09-A10

MTWNR/L 1616H16
2020K16 | 20 | 20
2525M16 | 25 | 25

PL20

TN..1604.. PL30

CTM513| MT1603

ETJNR/L 1616H16
2020K16
2525M16
3232P16

100
125
150
170

TN..1604..

PL25
PL40

O 0O O O

O 0O O O

213500
213502
213504
213506

Cylindrical Turning

==

(Inserts): A09-A10 (Toolholder Parts): PO1-P04

MTWNR/L 2020K16-B| 20
2524M16-B| 25 | 24

TN..1604.. [CTM513| MT1603

150] 26 | 25 |37.5 PL30 °




Cylindrical turning system

E P Type Cylindrical Turning Tool

MVQNR

Cylindrical Turning ||

End Face Turning

= (Inserts): A11-A12 (Toolholder Parts): P01-P04 R-Type

MVQNRI/L 1616H16 | 16 | 16 | 100] 30 | 16 | 20 e e 214700
2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 o | e |214702
2525M16 | 25 | 25 |150| 30 | 25 | 32 | /N-1604. |CTMSISIMVIBO3) o op | MS625 [ HL24T4 1 o o 1514704
3232P16 | 32 | 32 | 170 30 | 32 | 40 oo |214706

DVQNR/L 1616H16 O |0 214720
2020K16 | 20 | 20 |125| 40 | 20 | 25 O |0 |214722
2525M16 | 25 | 25 | 150 | 40 | 25 | 32 VN..1604.. | M5X9P |MV1603| PL30 | M6X21 | HLD-3 | J'| J 214724
3232P16 | 32 | 32 | 170| 40 | 32 | 40 0|0 1214726

EVQNR/L 2020K16 PL25
2525M16 | 25 | 25 [ 150 | 40 | 25 | 32 | VN..1604.. |[CT515-Z/MV1603 PL40 M8X25 | HLZ-V | o | 0 |214734
3232P16 | 32 | 32 |170| 40 | 32 | 40 0|0 1214736

MVJNR DVJNR

Cylindrical Turning

End Face Turning

= (Inserts): A11-A12 (Toolholder Parts): P01-P04 R-Type

MVJNR/L 1616H16 | 16 | 16 |100| 30 | 16 | 20 e | e 214500
2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 e | 214502
2525M16 | 25 | 25 |150| 30 | 25 | 32 VN..1604.. |CTM513|MV1603 PL30 MS625 | HL2414 | =) J 214504
3232P16 | 32 | 32 |[170] 30 | 32 | 40 e | o 214506

DVJNR/L 1616K16 | 16 | 16 | 125| 48 | 16 | 20 O |0 |214520
2020K16 | 20 | 20 |125| 48 | 20 | 25 010214522
2525M16 | 25 | 25 | 150 | 48 | 25 | 32 VN..1604.. | M5X9P |MV1603| PL30 | M6X21 | HLD-4 | /| J 214524
3232P16 | 32 | 32 |170) 48 | 32 | 40 ©]© 1214526

EVJNR/L 2020K16 | 20 | 20 | 125| 48 | 20 | 25 PL25 ‘ 214532
2525M16 | 25 | 25 [ 150 | 48 | 25 | 32 | VN..1604.. |[CT515-Z/ MV 1603 PL40 M8X25 | HLZ-V | o | o |214534

3232P16 | 32 | 32 |170| 48 | 32 | 40 0101214536

MVUNR

Cylindrical Turning

End Face Turning

= (Inserts): A11-A12 (Toolholder Parts): P01-P04 R-Type

MVUNRI/L 2020K16 PL20 214800
2525M16| 25 | 25 | 150 | 30 | 25 | 32 | VN..1604.. [CTM513|MV1603 PL30 MS625 | HL2414 | @ | @ | 214802
3232P16 | 32 | 32 | 170 30 | 32 | 40 e | o 214804

DVUNR/L 2020K16 214820
2525M16 | 25 | 25 |150| 35 | 25 | 32 | VN..1604.. | M56X9P |[MV1603| PL30 | M6X21 | HLD-3 | o | ©|214822
3232P16 | 32 | 32 |170| 35 | 32 | 40 0101214826

MVVNN DVVNN EVVNN
Cylindrical Turning
End Face Turning

= (Inserts): A11-A12 (Toolholder Parts): P01-P04 R-Type

MVVNN 1616H16 | 16 | 16 | 100] 30 | 16 | 10 e 214900
2020K16 | 20 | 20 | 125| 28 | 20 | 10 PL20 o | o |214902
2525M16 | 25 | 25 | 150 | 30 | 25 |12.5| YN-1604.. |[CTM513|MVI603| o g | MS625 [ HL2414 1 o1 o 1514904
3232P16 | 32 | 32 |170]| 30 | 32 | 16 o| o |214906

DVVNN 1616K16 | 16 | 16 | 125| 48 | 16 | 8 o1 0214920
2020K16 | 20 | 20 [125| 48 | 20 | 10 o|o|214922
2020K16 1| 20 | 20 1125) 48 | 20| 10 | UN..1604.. | M5X9P |MV1603| PL30 | M6X21 | HLD-4 | © | O 214922
3232P16 | 32 | 32 |170] 48 | 32 | 20 o | o |214926

EVVNN 2020K16 | 20 | 20 | 125| 48 | 20 | 10 PL25 ‘ 0101214932
2525M16 | 25 | 25 | 150 | 48 | 25 |12. 5| VN..1604.. |CT515-Z/MV1603 PL40 M8X25 | HLZ-V | 0| 0 |214934
3232P16 32 | 32 |170] 48 | 32 | 20 0101214936




Cylindrical turning system

P Type Cylindrical Turning Tool

MWLNR

Cylindrical Turning §

End Face Turning

= (Inserts): A13-A14 (Toolholder Parts): PO1-P04 R-Type
Order

Number

MWLNR/L 1616H06 | 16 | 16 | 100|31.5| 16 | 20 PL20 o | e[215200]
2020K06 [ 20 | 20 [125| 33 | 20 | 25 | WN..0604..|CTM513|MW0603 PL30 HL1814 | @ | ® [215202

2525M06 | 25 | 25 |150| 33 | 25 | 32 e | o (215204

1616H08 | 16 | 16 | 100|31.5| 16 | 20 MS625 e | e 215206

2020K08 | 20 | 20 [125]| 39 | 20 | 25 PL25 e | o 215208

2525M08 | 25 | 25 [150| 40 | 25 | 32 | WN-0804..[CTME17/MW0804) | 4, HL1814| o | ¢ (215210

3232P08 | 32 | 32 |170| 42 | 32 | 40 o | e (215212

Order

Number

DWLNR/L 1616H06 | 16 | 16 |100| 28 | 16 | 20 0| 01215220
2020K06 | 20 | 20 |125| 26 | 20 | 25 O | 0215222

2525M06 | 25 | 25 | 150| 32 | 25 | 32 WN..0604.. | M5X9P IMW0603| PL30 | M6X21 | HLD-3 | S| J 215226

3232P06 | 32 | 32 |170] 40 | 32 | 40 0] 01215228

1616H08 | 16 | 16 |100| 31 | 16 | 20 O] 01215230

2020K08 | 20 | 20 |125| 28 | 20 | 25 0| 0 ]215232

2525M08 | 25 | 25 | 150 | 32 | 25 | 32 WN..0804..| M6X9P |MW0804| PL30 | M6X21 | HLD-1 ol o |215236

3232P08 [ 32 | 32 |170] 32 | 32 | 40 0]0]215238

WWLNR

Cylindrical Turning

B S
e |

= (Inserts): A13-A14 (Toolholder Parts): P01-P04 R-Type

End Face Turning

Order
Number

WWLNR/L 1616H08 | 16 | 16 | 100| 38 | 16 | 20 e | e 215100
2020K08 | 20 | 20 |125| 38 | 20 | 25 PL30 e | e 215102
2525M08 | 25 | 25 | 150 | 38 | 25 | 32 WN..0804..|CT618-W | MW0804 PL40 M6X25 | WW-08 | 1§ 215104
3232P08 | 32 | 32 |170)| 38 | 32 | 40 e | e 215106

Order

Number

EWLNR/L 1616H08 | 16 | 16 | 100| 38 | 16 | 25 510215120
2020K08 | 20 | 20 |125| 38 | 20 | 25 PL30 o|o|215122

2525M08 | 25 | 25 | 150| 38 | 25 | 32 | VN--0804..|CTE18-ZIMWOB04 o | MBX25 | HLZ-08 | | o 1545126

3232P08 | 32 | 32 |170] 38 | 32 | 40 o|o|215128

MWENN

Cylindrical Turning

= (Inserts): A13-A14 (Toolholder Parts): P01-P04

Order

Number

MWENN  1616H08 | 16 | 16 |100| 33 | 16 | & o 215250
2020K08 | 20 | 20 | 125| 33 | 20 | 10 PL25 o |215252
2525M08 | 25 | 25 | 150 | 33 | 25 |12.5) WN--0804..|CTME17 MW0804) oy | MS625 [ HL1814 T - 154555,
3232P08 | 32 | 32 |170| 33 | 32 | 16 o |215256

MWWNR

Cylindrical Turning

= (Inserts): A13-A14 (Toolholder Parts): P01-P04 R-Type
Order

Number

MWWNR/L 1616H08 e | o 215260
2020K08 | 20 | 20 |125| 33 | 20 | 25 PL25 e | e (215262

2525M08 | 25 | 25 | 150 | 33 | 25 | 32 | "WN--0804..|CTMB17\MWO8B04| o g | MSE25 | HL1BT4T o o 1515064

3232P08 | 32 | 32 |170| 33 | 32 | 40 e | e (215266

MWWNR..B

il [FJ L |

10,

Cylindrical Turning

= (Inserts): A13-A14 (Toolholder Parts): P01-P04 R-Type
Order

i ) ; Number

MWWNR/L 2020K08-B| 20 | 20 | 125| 26 | 20 |33.5 PL25 e |e 215270
2524M08-B| 25 | 24 | 150 26 | 25 |37.5| WN--0804..|[CTME17IMWOB04| o 5y | MS625 [ HL1814) o | 515577




